

Periodic solutions for evolution equations in Hilbert spaces

By

Chen Yu-Qing

(Received January 20,1996)

Abstract. We consider the existence of periodic solutions of the problem $g(t, u) \in u' + Au$, where A is a maximal monotone operator defined in a Hilbert space and $g : R \times H \rightarrow H$ is a Caratheodory function periodic with respect to the first variable.

1. Introduction

In this paper, H is Hilbert space with an inner product $\langle \cdot, \cdot \rangle$, denote by $\| \cdot \|$ the norm induced by $\langle \cdot, \cdot \rangle$. Let $A : D(A) \subseteq H \rightarrow 2^H$ be a maximal monotone operator, we consider the existence of periodic solutions for nonlinear evolution equations of the form

$$g(t, u) \in \frac{du}{dt} + Au, t \in R \quad (1.1)$$

where $g : R \times H \rightarrow H$ is a Caratheodory function.

If g is Lipschitz or continuous with respect to the second variable, existence of periodic solutions for (1.1) has been studied by many authors. See [3], [5], [8], [9], [11], [13], [14]. When g is a Caratheodory function, periodic solutions for (1.1) has been studied by [12], [14] under other assumptions on g . In this paper, we shall give different assumptions on A and g than that of [12], [14]. Now, we state our result.

Theorem 1 *Let $A : D(A) \subseteq H \rightarrow 2^H$ be a maximal monotone operator. $g : R \times H \rightarrow H$ is a Caratheodory operator and g is T -periodic with respect to the first variable. Suppose the following conditions are satisfied*

1. *For some $\lambda > 0$, $J_\lambda = (I + \lambda^{-1}A)^{-1}$ is a compact operator on H ;*

2. There exist $M_1, M_2 > 0$, such that

$$\|g(t, v)\| \leq M_1\|v\| + M_2, \forall (t, v) \in R \times H;$$

$\langle z - g(t, J_\lambda v), v \rangle \geq -\frac{a}{\lambda}\|J_\lambda v\|, \forall (t, v) \in R \times D(A), z \in A_v; \lambda > 0$, where $a > 0$ is a constant;

Then (1.1) has a T -periodic solution.

Our approach is different from that of [12] and [14], the assumptions 1 and 2 are the same as in [12], but 3 is different from (*) of [12]. In [12], A is assumed to be a subdifferential of a lower semicontinuous convex function, but we do not require this condition.

2. Proof of Theorem

Let $L^2(0, T; H)$ be the space of functions $v : [0, T] \rightarrow H$ such that $\int_0^T \|v\|^2 dt < +\infty$. The norm and the inner product of $L^2(0, T; H)$ are denoted by $\|\cdot\|_T$ and $\langle \cdot, \cdot \rangle$ respectively. We identify the function in $L^2(0, T; H)$ with T -periodic functions. $W^{1,2}(0, T; H)$ represents the space of functions $v : [0, T] \rightarrow H$ such that $v, v^{(1)} \in L^2(0, T; H)$, where $v^{(1)}$ denotes the 1st derivative in the sense of distribution.

Let $A_\lambda = \lambda(I - J_\lambda)$ for $\lambda > 0$, then $A_\lambda x \in AJ_\lambda x$ for $x \in H$. It is well known that J_λ is nonexpansive and $J_\lambda x = J_u(J_\lambda x + u^{-1}A_\lambda x)$ for $\lambda, u > 0$ and $x \in H$ (see [4]).

In this paper, a T -periodic solution $u(\cdot)$ of (1.1) means that $u \in W^{1,2}(0, T; H)$, $u(t) \in D(A)$ for almost all $t > 0$ and there exists $v(\cdot) \in L^2(0, T; H)$, such that $v(t) \in Au(t)$ for almost all $t > 0$, and $\langle \frac{du}{dt} + v(t) - g(t, v), y \rangle = 0$ for all $y \in W^{1,2}(0, T; H)$ verifying $y(0) = y(T)$.

Without loss of generality, we assume $0 \in D(A)$ and $0 \in A0$. Let $\mathcal{A} : L^2(0, T; H) \rightarrow L^2(0, T; H)$ be as following

$$\mathcal{A}u(\cdot) = \{v(\cdot) \in L^2(0, T; H) | u(t) \in D(A), v(t) \in Au(t); \text{a.e. } t \in [0, T]\}$$

It's known that $\mathcal{A} : L^2(0, T; H) \rightarrow L^2(0, T; H)$ is maximal monotone (see [1]).

Let $W = \{v : R \rightarrow H, v(t+T) = v(t) \text{ for } t \in R \text{ and } v|_{[0, T]} \in W^{1,2}(0, T; H)\}$ endowed with the norm $\|\cdot\|_{1,T}$ of $W^{1,2}(0, T; H)$, i.e. $\|v\|_{1,T}^2 = \|\frac{dv}{dt}\|_T^2 + \|v\|_T^2$ for $v \in W$;

Now, we define an operator $T_n : W \rightarrow W^*$ by

$$\begin{aligned} \ll T_n u, v \gg &= \ll \frac{1}{n} \frac{du}{dt}, \frac{dv}{dt} \gg + \ll \frac{1}{n} u, v \gg \\ &+ \ll \frac{du}{dt} - g(t, J_n u), v \gg \quad \text{for } u, v \in W. \end{aligned} \quad (2.1)$$

For a reflexive Banach space E , an operator $T : E \rightarrow E^*$ is said to be an operator of (S_+) , if u_n converges to u weakly in E and $\overline{\lim}_{i \rightarrow \infty} (Tu_n, u_n - u) \leq 0$ imply that u_n converges to strongly in E and Tu_n has a subsequence converging weakly to Tu . (see [6])

Lemma 2.1 *For $n \geq 1$, the operator T_n defined by (2.1) is an operator of (S_+) .*

Proof. For fixed $n \geq 1$, let $(u_i) \subset W$ be a sequence such that $u_i \rightharpoonup u \in W$ weakly in W and

$$\overline{\lim}_{i \rightarrow \infty} [\ll \frac{1}{n} \frac{du_i}{dt}, \frac{d(u_i - u)}{dt} \gg + \ll \frac{1}{n} u_i, u_i - u \gg + \ll \frac{du_i}{dt} - g(t, J_n u_i), u_i - u \gg] \leq 0$$

Since J_n is compact and nonexpansive, so $J_n u_i$ is relatively compact in $L^2(0, T; H)$, and further that $\{g(t, J_n u_i)\}$ is also relatively compact in $L^2(0, T; H)$.

$$\text{So } \lim_{i \rightarrow \infty} \ll g(t, J_n u_i), u_i - u \gg = 0.$$

$$\begin{aligned} \text{Since } \lim_{i \rightarrow \infty} \ll \frac{du_i}{dt}, u_i \gg &= \lim_{i \rightarrow \infty} \int_0^T \frac{1}{2} \frac{d}{dt} \|u_i\|^2 dt = 0, \\ \lim_{i \rightarrow \infty} \ll \frac{du_i}{dt}, u_i \gg &= \lim_{i \rightarrow \infty} \ll u_i, \frac{du}{dt} \gg = 0. \end{aligned}$$

Therefore, we have

$$\overline{\lim}_{i \rightarrow \infty} [\ll \frac{1}{n} \frac{du_i}{dt}, \frac{d(u_i - u)}{dt} \gg + \ll \frac{1}{n} u_i, u_i - u \gg] \leq 0.$$

Hence

$$\overline{\lim}_{i \rightarrow \infty} [\int_0^T \frac{1}{n} \|\frac{du_i}{dt} - \frac{du}{dt}\|^2 dt + \int_0^T \frac{1}{n} \|u_i - u\|^2 dt] \leq 0.$$

So we get $u_i \rightarrow u$ strongly in W .

Lemma 2.2 *There exists $R_0 > 0$, such that*

$$\ll T_n u, u \gg + \ll v, u \gg > 0, \quad \forall u \in W, \|u\|_{1,T} = R_0 \text{ and } u(\cdot) \in D(\mathcal{A}), v(\cdot) \in \mathcal{A}_u(\cdot).$$

Proof. Suppose $u \in W$, and $u \in D(\mathcal{A}), v \in \mathcal{A}_u$.

$$\text{Since } \ll T_n u, u \gg + \ll v, u \gg = \frac{1}{n} \int_0^T \|\frac{du}{dt}\|^2 dt + \frac{1}{n} \int_0^T \|u\|^2 dt$$

$$\begin{aligned}
& + \int_0^T \langle \frac{du}{dt}, u \rangle dt + \int_0^T \langle v - g(t, J_n u), u \rangle dt \\
& = \frac{1}{n} \|u\|_{1,T}^2 + \int_0^T \langle v - g(t, J_n u), u \rangle dt
\end{aligned}$$

By the assumption 3, we have

$$\int_0^T \langle v - g(t, J_n u), u \rangle dt \geq -\frac{a}{n} \int_0^T \|J_n u\| dt.$$

Since $0 \in A_0$, so $\|J_n u\| \leq \|u\|$. Therefore, we have

$$\begin{aligned}
\int_0^T \langle v - g(t, J_n u), u \rangle dt & \geq -\frac{a}{n} \int_0^T \|u\| dt \geq -\frac{a}{n} \left(\int_0^T \|u\|^2 dt \right)^{\frac{1}{2}} \sqrt{T} \\
& \geq -\frac{a}{n} \sqrt{T} \|u\|_{1,T}.
\end{aligned}$$

Hence $\langle T_n u, u \rangle + \langle v, u \rangle \geq \frac{1}{n} \|u\|_{1,T} (\|u\|_{1,T} - a\sqrt{T})$. Let $R_0 > a\sqrt{T}$, we get the desired result.

In the following, we denote by $\mathcal{A}_\lambda = (\lambda I + \mathcal{A}^{-1})^{-1}$, $R_\lambda = I - \lambda \mathcal{A}_\lambda$, $\lambda > 0$.

Lemma 2.3 *Let R_0 be the same as in Lemma 2.2. Then for each $n \geq 1$, there exists $\lambda_0^n > 0$, such that*

$$0 \notin \bigcup_{i \in [0,1]} [t(T_n + A_\lambda) + (1-t)J](\partial B_{R_0}), \forall \lambda \in (0, \lambda_0^n) \quad (2.2)$$

where $J : W \rightarrow W^*$ is the dual mapping, $B_{R_0} = \{u \in W, \|u\|_{1,T} < R_0\}$.

Proof. Suppose (2.2) is not true. There exist $\lambda_i \rightarrow 0^+$, $t_j \rightarrow t_0$, $u_j \in \partial B_{R_0}$, with $u_j \rightarrow u_0$ and $\frac{du_j}{dt} \rightharpoonup \frac{du_0}{dt}$ weakly in $L^2(0, T; H)$, such that

$$t_j(T_n u_j + A_{\lambda_j} u_j) + (1-t_j)J u_j = 0 \quad (2.3)$$

Case(i). $t_0 = 0$. Since $\mathcal{A}_{\lambda_j} 0 = 0$, $\langle \mathcal{A}_{\lambda_j} u_j, u_j \rangle \geq 0$, and $\langle t_j T_n u_j, u_j \rangle \rightarrow 0$ as $j \rightarrow \infty$.

So $\overline{\lim}_{i \rightarrow \infty} \langle J u_j, u_j \rangle = \overline{\lim}_{i \rightarrow \infty} \|u_j\|_{1,T}^2 \leq 0$. Therefore, we have $u_j \rightarrow 0 \in \partial B_{R_0}$, a contradiction.

Case(ii). $t_0 \neq 0$. Times (2.3) by $\mathcal{A}_{\lambda_j} u_j$, we get

$$t_j \langle T_n u_j, \mathcal{A}_{\lambda_j} u_j \rangle + t_j \int_0^T \|\mathcal{A}_{\lambda_j} u_j\|^2 dt + (1-t_j) \langle J u_j, \mathcal{A}_{\lambda_j} u_j \rangle = 0$$

$$\begin{aligned} \text{and } \ll T_n u_j, \mathcal{A}_{\lambda_j} u_j \gg &= \ll \frac{1}{n} \frac{du_j}{dt}, \frac{d\mathcal{A}_{\lambda_j} u_j}{dt} \gg + \ll \frac{1}{n} u_j \mathcal{A}_{\lambda_j} u_j \gg \\ &+ \ll \frac{du_j}{dt} - g(t, J_n u_j), \mathcal{A}_{\lambda_j} u_j \gg. \end{aligned}$$

The monotonicity of \mathcal{A}_{λ_j} implies that

$$\ll \frac{du_j}{dt}, \frac{d\mathcal{A}_{\lambda_j} u_j}{dt} \gg \geq 0, \quad \ll u_j \mathcal{A}_{\lambda_j} u_j \gg \geq 0.$$

So we have

$$\int_0^T \|\mathcal{A}_{\lambda_j} u_j\|^2 dt \leq -\frac{1-t_j}{t_j} \ll J u_j, \mathcal{A}_{\lambda_j} u_j \gg - \ll \frac{du_j}{dt} - g(t, J_n u_j), \mathcal{A}_{\lambda_j} u_j \gg. \quad (2.4)$$

By the assumption 2, we know $(\mathcal{A}_{\lambda_j} u_j)$ is bounded in $L^2(0, T; H)$.

Without loss of generality, we may assume $\mathcal{A}_{\lambda_j} u_j \rightharpoonup f_0$ weakly in $L^2(0, T; H)$, $T_n u_j \rightharpoonup f_1, J u_j \rightharpoonup f_2$ weakly in W^* (otherwise, taking a subsequence).

By (2.3), we have

$$t_0(f_1 + f_0) + (1 - t_0)f_2 = 0. \quad (2.5)$$

Again, by (2.3), we get

$$\ll T_n u_j, u_j - u_0 \gg + \ll \mathcal{A}_{\lambda_j} u_j, u_j - u_0 \gg + \ll \frac{1-t_j}{t_j} J u_j, u_j - u_0 \gg = 0.$$

Since T_n, J are operators of (S_+) ,

$$\text{so } \overline{\lim}_{j \rightarrow \infty} \ll \mathcal{A}_{\lambda_j} u_j, u_i - u_0 \gg \leq 0 \quad \text{i.e.} \quad \overline{\lim}_{j \rightarrow \infty} \ll \mathcal{A}_{\lambda_j} u_j, u_i \gg \leq \ll f_0, u_0 \gg. \quad (2.6)$$

By the monotonicity of \mathcal{A} , we have

$$\begin{aligned} \ll z - \mathcal{A}_{\lambda_j} u_j, v - R_{\lambda_j} u_j \gg &\geq 0, \quad v \in D(\mathcal{A}), z \in \mathcal{A}v; \\ \ll z - \mathcal{A}_{\lambda_j} u_j, v - u_j + \lambda_j \mathcal{A}_{\lambda_j} u_j \gg &\geq 0, \quad v \in D(\mathcal{A}), z \in \mathcal{A}v; \end{aligned}$$

Letting $j \rightarrow \infty$, we get

$$\begin{aligned} \ll f_0, u_0 \gg &\geq \overline{\lim}_{j \rightarrow \infty} \ll \mathcal{A}_{\lambda_j} u_j, u_0 \gg \geq \ll -z, v - u_0 \gg + \ll f_0, v \gg, \quad v \in D(\mathcal{A}), z \in \mathcal{A}v; \\ \text{i.e. } \ll f_0 - u_0 \gg &\geq, \quad v \in D(\mathcal{A}), z \in \mathcal{A}v. \end{aligned}$$

The maximality of \mathcal{A} implies that

$$u_0 \in D(\mathcal{A}), \text{ and } f_0 \in \mathcal{A}v. \quad (2.7)$$

Now, we have $\mathcal{A}_{\lambda_j} u_0 \rightarrow \mathcal{A}^0 u_0$ strongly in $L^2(0, T; H)$ (see [10], Th23.3). Since $\ll \mathcal{A}_{\lambda_j} u_j - \mathcal{A}_{\lambda_j} u_0, u_j - u_0 \gg \geq 0$, so it follows from (2.3), we get

$$\overline{\lim}_{j \rightarrow \infty} \ll t_j T_n u_j + (1 - t_j) J u_j, u_j - u_0 \gg \leq 0.$$

Both T_n and J are operators of (S_+) . So $u_j \rightarrow u_0$ strongly in W , and

$$T_n u_j \rightarrow F_1 = T_n u_0, J u_j \rightarrow J u_0 = f_2.$$

The maximal monotonicity of \mathcal{A} also implies that $\mathcal{A}_{\lambda_j} u_j \rightarrow f_0 \in \mathcal{A} u_0$. In view of (2.5), we get

$$0 \in t_0(T_n + \mathcal{A})u_0 + (1 - t_0)J u_0, u_0 \in \partial B_{R_0} \cap D(\mathcal{A}).$$

It is a contradiction to Lemma 2.2. We complete the proof.

Lemma 2.4 For each $n \geq 1$, there exists an integer $P_n \geq n$, and $u_n \in W, \|u_n\|_{1,T} < R_0$, such that

$$T_n u_n + \mathcal{A}_{\frac{1}{P_n}} u_n = 0, \text{ where } R_0 \text{ is the same as in lemma 2.3.}$$

Proof. By lemma 2.3 and [6], we have

$$\deg(T_n + \mathcal{A}_\lambda, B_{R_0}, 0) = \deg(J, B_{R_0}, 0) = 1, \quad \forall \lambda \in (0, \lambda_0^n).$$

So $(T_n + \mathcal{A}_\lambda)u = 0$ has a solution in B_{R_0} for each $\lambda \in (0, \lambda_0^n)$. Taking an integer $P_n \geq n$, such that $\frac{1}{P_n} < \lambda_0^n$, then there is a $u_n \in B_{R_0}$, such that

$$T_n u_n + \mathcal{A}_{\frac{1}{P_n}} u_n = 0.$$

This ends the proof.

Proof of Theorem. By the above Lemmas, for each $n \geq 1$, there exists an integer $P_n \geq n$, $u_n \in W, \|u_n\|_{1,T} < R_0$, such that

$$T_n u_n + \mathcal{A}_{\frac{1}{P_n}} u_n = 0. \quad (2.8)$$

We multiply (2.8) by $\mathcal{A}_{\frac{1}{P_n}} u_n$ and integrate over $[0, T]$, then we get

$$\begin{aligned} & \int_0^T \left\langle \frac{1}{n} \frac{du_n}{dt}, \frac{d\mathcal{A}_{\frac{1}{P_n}} u_n}{dt} \right\rangle dt + \int_0^T \left\langle \frac{1}{n} u_n, \mathcal{A}_{\frac{1}{P_n}} u_n \right\rangle dt \\ & + \int_0^T \left\langle \frac{du_n}{dt} - g(t, J_n u_n), \mathcal{A}_{\frac{1}{P_n}} u_n \right\rangle dt + \int_0^T \|\mathcal{A}_{\frac{1}{P_n}} u_n\|^2 dt = 0. \end{aligned}$$

By the monotonicity of $\mathcal{A}_{\frac{1}{P_n}}$, we have $\left\langle \frac{du_n}{dt}, \frac{d\mathcal{A}_{\frac{1}{P_n}} u_n}{dt} \right\rangle \geq 0$, and $\langle u_n, \mathcal{A}_{\frac{1}{P_n}} u_n \rangle \geq 0$.

So we get

$$\int_0^T \|\mathcal{A}_{\frac{1}{P_n}} u_n\|^2 dt \leq \int_0^T \langle g(t, J_n u_n) - \frac{du_n}{dt}, \mathcal{A}_{\frac{1}{P_n}} u_n \rangle dt. \quad (2.9)$$

Since $\|u_n\|_{1,T} < R_0$, and the assumption 2 implies that

$$\sup_{n \geq 1} \int_0^T \|\mathcal{A}_{\frac{1}{P_n}} u_n\|^2 dt < +\infty. \quad (2.10)$$

Now, we prove

$$\sup_{n \geq 1} \int_0^T \|\mathcal{A}_{\frac{1}{n}} u_n\|^2 dt < +\infty. \quad (2.11)$$

By the monotonicity of \mathcal{A} , we have

$$\ll \mathcal{A}_{\frac{1}{n}} u_n - \mathcal{A}_{\frac{1}{P_n}} u_n, R_{\frac{1}{n}} u_n - R_{\frac{1}{P_n}} u_n \gg \geq 0,$$

$$\ll \mathcal{A}_{\frac{1}{n}} u_n - \mathcal{A}_{\frac{1}{P_n}} u_n, u_n - \frac{1}{n} \mathcal{A}_{\frac{1}{n}} u_n - R_{\frac{1}{P_n}} u_n \gg \geq 0,$$

$$\text{i.e. } \ll \mathcal{A}_{\frac{1}{n}} u_n - \mathcal{A}_{\frac{1}{P_n}} u_n, -\frac{1}{n} \mathcal{A}_{\frac{1}{n}} u_n + \frac{1}{P_n} \mathcal{A}_{\frac{1}{P_n}} u_n \gg \geq 0.$$

$$\frac{1}{n} \ll \mathcal{A}_{\frac{1}{n}} u_n, \mathcal{A}_{\frac{1}{n}} u_n \gg \leq \left(\frac{1}{P_n} + \frac{1}{n}\right) \ll \mathcal{A}_{\frac{1}{n}}, \mathcal{A}_{\frac{1}{P_n}} u_n \gg$$

$$- \frac{1}{P_n} \ll \mathcal{A}_{\frac{1}{P_n}} u_n, \mathcal{A}_{\frac{1}{P_n}} u_n \gg.$$

$$\text{So } \int_0^T \|\mathcal{A}_{\frac{1}{n}} u_n\|^2 dt \leq \left(1 + \frac{n}{P_n}\right) \int_0^T \langle \mathcal{A}_{\frac{1}{n}} u_n, \mathcal{A}_{\frac{1}{P_n}} u_n \rangle dt - \frac{n}{P_n} \int_0^T \|\mathcal{A}_{\frac{1}{P_n}} u_n\|^2 dt.$$

Since $n \leq P_n$ and by (2.10), we get

$$\sup_{n \geq 1} \int_0^T \|\mathcal{A}_{\frac{1}{n}} u_n\|^2 dt < +\infty.$$

So (2.11) holds.

Since $\|u_n\|_{1,T} < R_0$, $n \geq 1$, so $\int_0^T \left\| \frac{du_n}{dt} \right\|^2 dt < R_0^2$, then it follows that

$$\int_0^T \left\| \frac{d(J_n u_n)}{dt} \right\|^2 dt \leq R_0^2, n \geq 1 \quad (2.12)$$

By (2.12), we get

$$\sup\{\|J_n u_n(t)\| : n \geq 1, 0 \leq t \leq T\} < +\infty \quad (2.13)$$

Let us remark that $\mathcal{A}_{\frac{1}{n}} u_n(t) = A_n u_n(t)$, $t \in [0, T]$, (2.11) becomes that

$$\int_0^T \|A_n u_n(t)\|^2 dt < +\infty \quad (2.14)$$

We show that $\{J_n u_n\}$ is relatively compact in $L^2(0, T; H)$. Let $\epsilon > 0$. By (2.12) and (2.13), using the same argument of [12], there exists an integer $m_0 > 0$ such that

$$\|J_n u_n(t) - J_n u_n(s)\|^2 < \frac{\epsilon}{6T}, \forall n \geq 1, |t - s| < \frac{2T}{m_0}. \quad (2.15)$$

On the other hand, there exists $D > 0$ such that

$$\inf\{\|A_n u_n(\tau)\| : t \leq \tau \leq t + \frac{T}{m_0}\} < D, \forall n \geq 1, 0 \leq t \leq (1 - \frac{1}{m_0})T.$$

We now choose $\{t_{m,n} : 1 \leq n; 1 \leq m \leq m_0\} \subset [0, T]$ such that $\frac{(m-1)T}{m_0} \leq t_{m,n} \leq \frac{mT}{m_0}$ and $\|A_n u_n(t_{m,n})\| \leq D, \forall n \geq 1, 1 \leq m \leq m_0$.

For fixed $n_1 \geq 1$, we have

$$J_n(u_n(t_{m,n})) = J_{n_1}(J_n u_n(t_{m,n}) + n_1^{-1} A_n u_n(t_{m,n})). \forall n \geq 1.$$

By the assumption 1, we know $\{J_n u_n(t_{m,n})\}$ is relatively compact.

Without loss of generality, we may assume $\{J_n u_n(t_{m,n})\}$ is a convergent sequence for all $1 \leq m \leq m_0$, (otherwise, taking a subsequence).

Again, by (2.15), one can easily see $\{J_n u_n\}$ is convergent in $L^2(0, T; H)$.

$$\text{Let } J_n u_n \rightarrow u \text{ strongly in } L^2(0, T; H). \quad (2.16)$$

Since $A_n u_n = n(u_n - J_n u_n)$, by (2.14), (2.16), we know

$$u_n \rightarrow u \text{ strongly in } L^2(0, T; H). \quad (2.17)$$

Since $\mathcal{A}_{\frac{1}{P_n}} u_n = P_n(u_n - R_{\frac{1}{P_n}} u_n)$, by (2.10), (2.17), we know

$$R_{\frac{1}{P_n}} u_n \rightarrow u \text{ strongly in } L^2(0, T; H). \quad (2.18)$$

In view of (2.10), we may assume

$$\mathcal{A}_{\frac{1}{P_n}} u_n \rightarrow z \text{ weakly in } L^2(0, T; H). \quad (2.19)$$

By (2.18), (2.19) and the maximal monotonicity of \mathcal{A} , we know $z \in \mathcal{A}u$ i.e. $z(t) \in \mathcal{A}u(t)$, a.e. $t \in [0, T]$.

Since

$$\langle\langle T_n u_n, v \rangle\rangle + \langle\langle \mathcal{A}_{\frac{1}{P_n}} u_n, v \rangle\rangle = 0, \forall v \in W; \quad (2.20)$$

and $\|u_n\|_{1,T} < R_0, \frac{1}{n} \frac{du_n}{dt} \rightarrow 0$ strongly in $L^2(0, T; H)$.

Letting $n \rightarrow \infty$ in (2.20), by (2.16), (2.17), (2.19), we get

$$\langle\langle \frac{du}{dt} - g(t, u), v \rangle\rangle + \langle\langle z, v \rangle\rangle = 0, \forall v \in W.$$

So u is a T -periodic solution of (1.1). We complete the proof.

3. Examples

In this section, we give some exsamples that satisfy our condition 3.

Example 1 Let $A : R^1 \rightarrow 2^{R^1}$ be as following

$$Ax = \begin{cases} x + 1, & x > 0; \\ [0, 1], & x = 0; \\ x & x < 0. \end{cases}$$

Through a direct simple calculation, we get

$$J_\lambda x = \begin{cases} \frac{\lambda x - 1}{\lambda + 1}, & x > \frac{1}{\lambda}; \\ 0, & x \in [0, \frac{1}{\lambda}]; \\ \frac{\lambda x}{\lambda + 1}, & x < 0 \end{cases}$$

Let $g(t, x) : R^1 \times R^1 \rightarrow R^1$ be as following

$$g(t, x) = |\sin t|x + |\cos x|, \quad (t, x) \in R^1 \times R^1.$$

Then

$$(z - g(t, J_\lambda x), x) = \begin{cases} x^2(1 - \frac{\lambda}{\lambda+1}|\sin t|) + (\frac{\lambda+2}{\lambda+1} - |\cos \frac{\lambda x + 1}{\lambda+1}|)x, & x > \frac{1}{\lambda}; \\ x^2, & x \in [0, \frac{1}{\lambda}]; \\ 0, & x = 0; \\ (1 - \frac{\lambda}{\lambda+1}|\sin t|)x^2 - x|\cos \frac{\lambda x}{\lambda+1}|, & x < 0. \end{cases} \quad \forall z \in Ax;$$

So we have $(z - g(t, J_\lambda x), x) \geq 0 > -\frac{a}{\lambda}|J_\lambda x|$, $a > 0$ is any constant.

Example 2 Let $\Omega \subseteq R^N$ be a bounded domain with a smooth boundaary $\partial\Omega$. $Au = -\Delta u$, $D(A) = \{u \in H_0^1(\Omega) : Au \in L^2(\Omega)\}$; $g(t, u) : R \times L^2(\Omega) \rightarrow L^2(\Omega)$ is defined as following $g(t, u) = \lambda_1 u - \frac{u}{1+\|u\|^2}|\sin t|$, $(t, u) \in R^1 \times L^2(\Omega)$; where λ_1 is the first eignvalue of $-\Delta$ under the Dirichlet boundary condition, $\|\cdot\|$ is the L^2 -norm.

It's obvious that

$$\langle Au - g(t, u), u \rangle \geq \frac{\|u\|^2}{1 + \|u\|^2}|\sin t|, \quad u \in D(A).$$

For any $a > 0$, $C_{t_0} > 0$, we can not prove

$$\langle Au - g(t, u), u \rangle \geq a\|u\|^2 - C_0$$

So A and g do not satisfy the third condition in [12], but we have

$$\langle Au - g(t, J_\lambda u), u \rangle = \|\nabla u\|^2 - \lambda_1 \langle J_\lambda u, u \rangle + \frac{\langle J_\lambda u, u \rangle}{1 + \|J_\lambda u\|^2}|\sin t|, \quad u \in D(A);$$

and $0 \leq \langle J_\lambda u, u \rangle \leq \|u\|^2$.

So $\langle Au - g(t, J_\lambda u), u \rangle \geq \frac{\langle J_\lambda u, u \rangle}{1 + \|J_\lambda u\|^2} |\sin t| \geq -\frac{a}{\lambda} \|J_\lambda u\|$ for arbitrary constant $a > 0$.

Remark 1 In [12], condition (3) was replaced by $(*) : \langle z - g(t, v), v \rangle \geq a\|v\|^2 - b$, $\forall v \in D(A)$, $z \in Av$; where a, b are positive constants;

For appropriately large v in $D(A)$, we have

$$a\|v\|^2 - b \geq c > 0$$

For $v \in D(A)$, we have $J_\lambda v \rightarrow v$ as $\lambda \rightarrow +\infty$. So if $(*)$ holds, then for appropriately large v in $D(A)$ and sufficiently large λ , 3 holds.

Acknowledgment. The author is indebted to Professor N.Hirano for his careful reading the paper and some helpful suggestions.

References

- [1] J. P. Aubin and I. Ekeland, *Applied Nonlinear Analysis*, John Wiley & Sons, (1984).
- [2] V. Barbu, *Nonlinear semigroups and differential equations in Banach spaces*, Noordhoff, (1976).
- [3] R. I. Becker, Periodic solutions of semilinear equations of evolutions of compact type, *J. Math. Anal. Appl.* **82** (1981), 33-48.
- [4] H. Brezis, *Operateurs maximaux monotones*, North-Holland (1973).
- [5] F. E. Browder, Existence of periodic solutions for nonlinear equations of evolution, *Proc. Nat. Acad. Sci. USA.* **53**(1965) 1100-1103.
- [6] ———, Degree of mapping for nonlinear mapping of monotone type, *Ibid.*, **80**(1983), 1771-1773.
- [7] ———, Degree of mapping for nonlinear mapping of monotone type densely defined mappings, *Ibid.*, **80**(1983), 2405-2407.
- [8] Chen Yu-Qing, Periodic solutions for differential equations in Banach spaces, *J. Sichuan Univ.* **3**(1994), 292-296.
- [9] K. Deimling, Periodic solutions of differential equations in Banach spaces, *Manuscript, Math.* **24**(1978), 31-44.
- [10] ———, *Nonlinear functional analysis*, Springer-Verlag, (1985).
- [11] N. Hirano, Existence of multiple periodic solutions for a semilinear evolution equations, *Proc. Amer. Math. Soc.*, **106**(1989), 107-114.
- [12] ———, Existence of periodic solutions for nonlinear evolution equations in Hilbert spaces, *Ibid.*, **120**(1994), 185-192.

- [13] J. Pruss, Periodic solutions of semilinear evolution equations, *Non. Anal.*, **3**(1979), 221–235.
- [14] I. Vrabie, Periodic solutions for nonlinear evolution equations in a Banach space, *Proc. Amer. Math. Soc.*, **109**(1990), 653–661.

Department of Mathematics
Sichuan University
610064, Chengdu
P.R.China.